" Mathematics

length
Taursday

Express in meters.
a) 2km= m b) 4km= m

c) Skm=____m d 8km=____m
Express in kilometers.
a) 3000m=______ km b) 6000m=_____ km

c) 7000 m= km d) 9000 m = km

Express in meters.

a) Tkml4sm=____m b) 3kkmS80m=____m
c) Tkm298m= m d 2km78m= m
e)] 2km&80m=____m f) 1Tkmém=___ m
g 3kmé/Om=_____m

Circle the correct answer.

a) 1250 mis longer than / equal to / shorter than 1 km 25 m.

) 3300 mislonger than / equal to / shorter than 3 km 30 m.

c) 3009 mislonger than / equal to / shorter than 3 km 900 m./

b




a

Express in kilometers and meters.

a) 1732m = km
p) 1305m = km
c) 2245m = km
d) 1300m = km
e) 3260m = km
f) 3006 m= km
g) 2108 m= km




